HOGE Z=#ikE

KHB3KZE% — (=& S EEkiE

KHB3K Two-position Three-way High Pressure Ball Valve

%”%iﬁﬂﬂ/Model Code

(KHB3K/KHB3K-SHG1/20 L N1 01 L J2Qosf +
© 6 © 6 ©

@ =511t S/Series Code

KHB3K-fERfEkiE/ Valve block ball valve DN04-50
KHB3K-SiE®RAZEKIE/ Valve block ball valve DN04-50

© BSGNIEE T IMSIEER
Thread size or the pipe diameter and connection type
© ELITHAEERTS/Valve function Symbol
W FEIhEERT S/See below uses symbols
© HaRINESLIR Y/ Valve and joints material
1-BE§d/Carbon steel 4-F§50/Stainless Steel
© BN E)/Ball and spindle material control
1-E4R/Carbon steel 4-AgEHN/Stainless Steel
O BB The seal material

1-POM 4-B MU 2%/ Polytetrafluoroethylene 5-PEEK

EE9Thee/Valve function mFE)

@ =L s HSaEE/Joint seal and Control spindle seal
2-NBR 4-FPM 6-EPDM

© Fawa/Handle Type
01-$8& & M#/Aluminum alloy crank
02-$B& = EHM/Aluminum alloy straight handle
03-F& &M/ Zinc alloy crank
04-F&®EWM/Zinc Alloy Straight Shank
05-$ME M/ Steel crank
06-fM/E E1E/Steel Straight handle

© F=m@EibE/Surface treatment

FIABEEQ/Default plating blue white zinc
HEEKiEIREE/Please specify other requirements

i+ . T{ERE(C)/Operating temperature(°C)
-30~80

KHB3KZFIBRRBEMED "1" HEDE , BNSHINERELTHEMERER KHB3K Hydraulic oil just can flow into valve through port "1"and

LXRAMNBOEDAE,
2 ARYiMAEDNFE T EROED,
KHB3K-SEIEFAROMEIEREADAD | REEE AP=0barfEaE3H !

@ FAYThAEERF S/ Valve function Symbol

KHB3K o — e
L3 '-.:.‘-.:'52 —,_I_L-; }“'ul' ] ;:l et ]
1 R 23
=1 & =
3 T2 O D S | B i
1 i l_r_l Tl
1 23

A RABEOESEDAD@GDL
SMER</Dimensions

@ KHB3K

the valve only can be sealed under the two situations:

1)Pressure at the closed port is zero;

2)Pressure at the closed port is lower than at the tow open ports.
KHB3K-S All ports can be used as pressure inlets! Can only be
turned on or off at A P=0bar!

KHB3K-S = — . ‘\‘
L 302 5 KO 1 {
fEA? Het B R
== e i T SR,
ok i K] [HIFTN
1 23

A FEROIEIEREDAD |
REEEE AP =ObarFaa i !

http:/fwww.nbhoge.com m



@ KHB3KZE% ==&
H 0 G E % 1% ﬁ E KHB3K Two- posmoﬁfeJe wai-ﬁl.g_h'g;sgg;lﬁj\faﬁ

Lw
]
RA
dl
Lw

d1

LW
I

d1

JB984-77 150 228 ANSIB1.20.1

JB984-77 #MELIRE#EE/Male Face Sealk

#E Madel

KHB3K-M12x1.25 a | 315 4 8 M12x1.25 9 61 | 39 | 28 |[a445| 13 | 34 8 9 35
KHB3K-M16x15 @ 6 315 | 6 11 M16x1.5 11 | 69 | 39 | 28 |445| 213 | 34 8 9 35
KHB3K-M22x15 | 8 | 315 | 8 | 16 | M22x15 | 12 | 76 | 43 | 32 |s525| 17 | 40 | 8 | 9 | 38
KHB3K-M27x15 | 10 | 315 | 10 | 20 @ M27x15 | 12 | 76 & 43 32 | 525 | 17 @ 40 8 9 38
KHB3K-M30x15 | 16 | 315 | 15 | 24 | M30xL5 | 13 | 8% 48 | 38 | 635 19 | 43 11 | 12 | 42
KHB3K-M36x2 || 20 | 315 | 20 | 30 | M36x2 | 15 | 103 | 61 | 48 | 75 | 24 | 54 | 12 | 12 | 52
KHB3K:MA2%2 || 25 | 315 | 25 | 35 | M42x2 | 18 | 116 | 66 | 55 | 82 | 285 | 61 | 12 | 12 | 58
KHB3K-M52x2 | 32 | 315 30 40 M52x2 20 | 149 84 | 75 1045 375 84 14 | 14 | 72
KHB3K-M60x2 40 | 315 38 50 | M60x2 | 22 174 92 | 85 1155 425 95 14 | 17 795
KHB3K-M72x2 | 50 | 315 48 & 60 | M72x2 | 24 | 178 100 | 105 | 133 | 525 1125 14 | 17 89

ISO 228@24L/Female

AE Model

KHB3K-G1/8 4 315 6 | Gi/g8 | 10 69 39 28 | 445 | 13 34 8 9 35
KHB3K-G1/4 | 6 | 315 | 6 | Gl/4 14 | 69 | 39 | 28 | 445 | 13 | 34 8 9 35
KHB3K-G3/8 || 10 | 315 | 10 | G3/8| 14 | 72 | 43 | 32 [ s25 | 17 | 4o 8 9 | 36
KHB3K-G1/22 || 13 | 315 | 13 | G172 | 1e 83 49 35 | 525 | 17 40 8 9 40
kHB3K-G1/2© || 16 | 315 | 15 | Gi/2 | 16 | 83 | 48 | 38 | 635 | 19 | 43 | 11 9 42
KHB3K-G3/4 || 20 | 315 | 20 | G3/a | 18 | 95 | 61 | 48 | 75 | 24 | 54 | 12 12 | 49
KHB3K-G1 | 25 | 315 | 25 | &1 | 205 | 133 | 66 | 55 | 82 | 285 | 61 | 12 | 12 | 565
KHB3K-G1Y/4  25/32 315 | 25 @ Gl/4 22 | 120 66 60 g2 | 285 | &1 12 14 60
KHB3K-G1Y¥4 | 32 | 315 | 30 | Giv4| 22 | 110 | 84 | 75 | 1045 | 375 8 | 14 | 17 | &S
KHB3K-G1Y/2 | 40 | 315 | 38 | G1Y/2| 24 | 130 | 94 | 85 | 1155 | 425 95 | 14 | 17 | &5
KHB3K-G2 | so | 315 | 48 | 62 | 26 | 140 | 100 | 105 | 133 | 525 | 1125 14 7 | 70

ANSIB1.20.1 NPT PIEEE8L/NPT Female

ME Model
KHB3K-1/8NPT 4 315 6 1/8NPT| 105 | 69 39 28 | 445 | 13 34 8 ) 35
KHB3K-1/4NPT | 6 | 315 | 6 1/4NPT| 14 | 69 | 39 | 28 | 445 13 | 34 8 | 9 | 35
KHB3K-3/8NPT | 10 | 315 | 10 (3/8NPT| 14 | 72 | 43 | 32 | s25 | 17 | 40 | 8 | 9 | 36
KHB3K-1/2NPT 13 315 13 1/2NPT 17 83 49 35 | 525 | 17 40 8 9 40
KHB3K-3/4NPT | 20 | 315 | 20 (3/4NPT| 19 @ 95 | 61 48 | 75 | 24 | 54 12 12 | 49
KHB3K-1NPT | 25 | 315 | 25 |anpT| 225 | 113 | &6 | S5 | 82 | 285 | 61 | 12 | 12 | 565
KHB3K-1/4NPT | 25/32 315 | 25 1Y4NPT 2255 120 66 60 82 | 285 61 12 12 60
KHB3K-1/4NPT | 32 | 315 30 1V4NPT 25 120 84 75 1045 375 84 14 14 | 60
KHB3K-1/2NPT | 40 | 315 38 1Y2NPT 25 130 94 85 1155 425 95 14 17 70
KHB3K-2NPT | S50 | 315 | 48 | 2NPT 30 | 140 | 100 A 105 133 | 525 | 1125 14 | 17 | 75

m hitp:/fwww.nbhoge.com



R KHB3KZERF ==& & EEKIR
H 0 G E %E EE KHB3K Two—positioﬁfeje—wailﬁigh ESI‘EE%EH\E

2 = 2 2 S 3 g s
J_"_ _!_; \' ‘_‘T.-__ — . Lo N U —
| i I s |
| [ 4
& [ .
i - - L &
SAE J514 DIN 2353 LR DIN 2353 SR

SAEJ 514 UN/UNF Hi84/Female

FIE Model | _
KHB3K-SAE4 6 315 6 | SAE4 12 69 39 28 | 445 13 34 8 9 35
KHB3K-SAE6 | 10 | 315 | 10 | SAE6 | 13 | 72 | 43 | 32 | 525 | 17 | 40 | 8 | 9 | 36
KHB3K-SAE8 13 | 315 13 | SAE8 15 = 83 | 49 37 | 525 | 17 | 40 | 8 | 9 | 40
KHB3K-SAE12 20 | 315 | 20 | SAE12 K 20 95 | 61 48 75 24 54 12 12 49
KHB3K-SAEI6 | 25 | 315 | 25 |SAEl6| 20 | 113 | 66 | 5 | 8 | 285 | 61 | 12 | 12 | 565
KHB3K-SAE20 | 25/32 = 315 | 25 | SAE20 20 | 120 & 66 60 | 8 | 285 | 61 | 12 | 12 | 60
KHB3K-SAE20 32 | 315 30 | SAE20 20 | 120 & 84 75 | 1045 375 | 84 14 14 60
KHB3K-SAE24 40 | 315 38 | SAE24 | 20 | 130 | 94 85 | 1155 425 | 95 14 17 | 70
KHB3K-SAE32 | 50 | 315 = 48 | SAE32 | 20 | 140 | 100 105 | 133 | 525 | 1125 14 17 | 75
DIN 2353 55/ Light Series OORRIROOIN ot oo
#E Model
KHB3K-06LR 4 315 4 6 | MI12xL5 10 | 67 | 39 | 28 | 445 | 13 | 32 8 9 | 345
KHB3K-08LR = 6 | 315 6 | 8 M14x15 | 10 | 67 @ 39 28 | 445 13 @ 32 8 9 | 345
KHB3K-10LR 8 | 315| 8 | 10 | Miexa5 | 11 | 74 | 43 | 32 | 525| 17 | 40 38 | 9 | 37
 KHB3K-12LR | 10 | 315| 10 | 12 @ M18xl5 | 11 = 74 43 32 | 525 17 40 | 8 9 | 37
 KHB3K-15LR | 13 315 13 15  M22x15 | 12 82 49 37 525 17 43 | 8 3 | 40
KHB3K-18LR | 13 | 315 13 | 18 & M26x15 | 12 | 82 49 37 | 525 17 @ 43 8 s | a2
KHB3K-18LR 16 | 315| 15 | 18 | M26x15 | 12 | 82 | 48 | 38 | 635| 19 | 46 | 11 | 9 | 42
KHB3K-22LR | 20 315 19 22 M30x2 | 14 101 61 48 75 24 54 12 12 | 2
KHB3K-28LR | 25 315 25 28 M36x2 | 14 108 66 55 82 285 61 12 12 54
KHB3K-35LR  25/32 315 25 35 M45x2 16 | 312| 66 | 60 | 82 | 285| 64 | 12 | 14 | s6
DIN 2353 EE&5l/Heavy Series Note that the line :oﬁiﬁ\f%ﬁﬁ?ﬁ?a%ﬁ
HE Model - i | H hi | h2 | h3 | swi| s

KHB3K-08SR a4 |38 | s ) M16x15 1 | 73 | 2% | 28 |aas | a3 | 24 8 9 37
KHB3K-10SR 6 | 315 | 6 | 10 | ™M18x15 | 12 | 73 | 39 | 28 | 445 | 13 | 34 8 9 37
KHB3K-12SR 8 | 315 | 8 | 12 M20x15 | 12 | 76 | 43 | 32 | 525 | 17 | 40 8 9 38
KHB3K-14SR 10 | 315 10 @ 14 M22x1.5 | 14 | 80 | 43 | 32 | 525 | 17 | 40 | 8 9 40
KHB3K-16SR 13 315 | 13 16 | M24x15 | 14 86 49 35 525 | 17 40 | 8 9 | 435
KHB3K-20SR 13 | 315 | 13 | 20 M30x2 16 90 49 | 35 | 525 | 17 | 40 8 9 | 455
KHB3K-20SR | 16 | 315 | 15 | 22 | M30x2 | 16 | 90 | 48 | 38 | 635 19 | 46 | 11 | 12 | 455
KHB3K-255R | 20 | 315 | 19 | 25 | M36x2 | 18 | 109 | 61 | 48 | 75 | 24 | 54 | 12 | 12 | 56
KHB3K-30SR | 25 | 315 | 25 | 30 | M42x2 | 20 | 120 @ 66 | 55 | 82 | 285 61 | 12 | 12 | 60
KHB3K-38SR  25/32 315 | 25 38 M52x2 22 124 | 66 | 60 | 82 285 | 64 12 14 | 62

http:/fwww.nbhoge.com



¢ KHB3KZRE = {7 =& EEkIE
H 0 G E % m ﬁ E KHB3K Two—positioﬁfei—wai%igh g;sggﬁaﬁ
|

4N Py B ey 1SO7-1 HaL

ol PR s
82 Model
KHB3K-N -M14x1.5 6 | 315 | 6 | Mi4xLS | 14 | 69 | 39 | 28 |@44s | 13 | 32 | & 9 | 35
KHB3K-N -M18x1.5 10 | 315 | 10 | M18xl5 | 13 | 72 @ 43 | 32 | 525 17 40 8 | 9 | 36
KHB3K-N-M22x15-SW9 | 13 315 13 | M22xL5 15 8 49 35 525 17 40 8 | 9 | 40
KHB3K-N -M27x2 20 315 20 | M27x2 18 | 95 61 48 75 | 24 57 12 | 14 49
KHB3K-N -M33x2 | 25 | 315 | 25 | WM33x2 | 20 | 113 | 66 | 57 | 82 | 285 64 | 12 | 14 | 565
KHB3K-N -M42x2 | 32 315 30 @ M42x2 | 22 110 85 75 1045 375 84 14 | 17 55
KHB3K-N -M48x2 | 40 | 315 38 | M48x2 24 130 94 = 85 | 1155 425 95 14 | 17 | 65
KHB3K-N-M60x2 | 50 | 315 48 | M60x2 | 26 | 140 100 | 105 133 525 1125 14 17 75
1SO7-1 gL
&S Model

KHB3K-1/8BSPT 4 | 315 | 6 |Rcl/8 11 | 69 | 39 | 28 | 445 13 | 32 8 9 35
KHB3K-1/4BSPT | 6 | 315 | & |Rci/a| 14 | 69 | 39 | 28 | 445 | 13 | 32 8 9 5%
KHB3K-3/8BSPT | 10 [ 315 | 10 |Re3/a| 14 | 72 | 43 | 32 [s25| 27 | 40 | & | 9 | 36
KHB3K-1/2BSPT | 13 | 315 13 |Ral/2| 17 | 83 | 49 | 35 |s25 | 17 | 40 | &8 | 9 | 40
KHB3K-3/4BSPT | 20 | 315 | 20 | Re3/4 19 | 95 | 61 | 48 | 75 | 24 | 57 | 12 | 14 | 49
KHB3K-1BSPT | 25 [ 315 | 25 | Rex | 225 | 113 | 66 | 57 | 82 | 285 | 64 | 12 | 14 | ses
KHB3K-1'/4BSPT |25/32| 315 | 25 |Rela| 225 | 120 | 66 | 60 | 82 | 285 | 64 | 12 | 14 | 60
KGNl

(1) RERaERE | BEMIBG3/4 , THEEALE | THMEAERES  FHHHSRENME  REEFREE  HESH  KHB3K-G3/4-L-1112-04(1{R )
(2) T HRNREIEATR RSN 122EM E, TS .

m hitp:/fwww.nbhoge.com



KHB,KHB3KEk @ %= LR

KHB,KHB3K Ball Valve Aside Mounting Holes Series

HOGE &HRE

HRERS

BFLiERER < /Full Holes Dimensions

12T iEE R < /Thread Holes Dimensions

DN A d DN A t F g M
4 30 4.6 4 30 6.7 6 9 M6
6 30 5 6 30 6.7 6 9 M6
10 ' 32 6.6 10 32 8 5.5 10 M6

13 ' 37.5 6.6 13 37.5 9 6 11 M6

16 ' 37.5 6.6 16 37.5 8 8 10.5 M6

20 | 485 6.5 20 45 13 75 15 M10

25 | 505 6.5 75 45 13 75 15 M10

32 ' 50.5 8.5 32 45 13 7.5 15 M10

@ES&EE?&Z?E%}L

L DN E F t d

rlr ' 4 24 4.5 9 M6

H 6 24 45 9 M6

LS 10 32 5.5 12 M6
L) L g 13 36 6 12 M6
[ | 16 32 6.5 12 M6
[ ] ! 20 45 15 12 M6
| 25 as 7.5 12 M6
T 25/32 45 7.5 12 M6

http:/fwww.nbhoge.com m



